Weekly Arithmetic 10 a day

* K

w/b 1.3.21

1.

Monday

| have 1 20p coin, 3 5p coins and 1
50p coin. How much money do |
have?

| have 36 sweets. | want to share them
equally between 3 people. How many
sweets does each person get?e

Paulis 25 cm tall. Anayais 13cm
shorter than Paul. How tall is Anaya?

There are 10 houses in the town. Each
house has 5 people living in it. How
many people live in the town all
together?

| am thinking of a shape. It has 8
vertices, 6 faces and 12 edges. What
shape is it2

There are 16 biscuits in one pack. Miss
Kavanagh ate one quarter. How many
biscuits are left in the pack?

| have 45 sweets and | need to share
them equally between my 5 children.
How many sweets does each child
gete

There are 29 sweets. | need to put 2in
each bag. How many bags do |
need? Do you have any sweefts lefte

Vs of 40 =

10. % of 34 =

Tuesday

| am thinking of a shape. It has 2 faces,
1 edge and 1 vertex. What shape is it¢

7+8=__
This is the same as
10 +
20-__
X

There are 7 boxes. Each box has a pair
of shoes in it. How many shoes are
there all together?

Dora has 75p. Lucy has 6 5p coins, a
10p coin and a 20p coin. She says she
has the same amount of money as
Dora. Is she right2 Show your working
out.

It was 21°C yesterday. Today it is 5°
colder than yesterday. What is the
temperature today?

Miss Whitney has 17 hula hoops. She
has 32 children in her class. How many
more hula hoops does she need?

There are 93 children in Year 2. Each

bus can hold 10 children. How many
buses do we need?

I have 23 tennis balls, 12 rugby balls, 6
golf balls and 29 footballs. How many
sports balls do | have altogethere

100m is the same has Tm?2 Circle -

Yes No

.Ella’s bed is 182cm. What is that in

meterse




10.

Wednesday

Put the following numbers in order.
72, 64,15, 42, 28.

There are 68 people on the bus. 12 get off
at the first stop and 17 get off at the
second stop. How many people are left
on the bus?

| am thinking of a shape. It has 6 sides and
six corners. What shape is it?

There are 9 tables in the classroom. 5
children sit at each table. How many
children are in the classe

There are 60 flowers. | can fit 10 in each
vase. How many vases do | need?

| am thinking of a shape. It has 3 faces,
two round edges and 0 vertices. What
shape is it?

There are 12 ladybirds on a plant. 3
ladybirds have 5 spots. 9 ladybirds have 2
spots. How many spots are there
altogether on the ladybirds?

There are 12 small cushions, 14 medium
cushions and 25 big cushions. How many
cushions are there altogether?

I have 92 beads in 3 different colours. 15
are red, 34 are blue. How many are pink?

There are 45 cakes.5 cakes can go in
each box. How many boxes do | need?

Thursday

There are 90 children in Year 2. 53 of
them are boys. How many are girls¢

Carrots cost 5p each. Tim spent 55p.
How many carrots did he buy?

How much is not coloured in2

There are 24 bags of crisps in each
box. | have 3 boxes. How many crisps
do | have altogethere




Friday

Colour a third of the shape. [ coloured
A third of 9 =
Colour half the shape. [ coloured
A half of 20 =

. Sally bought 3 photograph frames and
each cost £7. She paid with £30.00. How
much did they cost and how much
change did she get?e

| am thinking of a shape. It has 5 faces, 1
vertex and 8 edges. What shape is it¢

. Sophie is having a birthday party. She has

invited 15 of her friends from school and 7
friends from after school club and 13 family
members. How many people are
alfogether?

. Jack has made 22 cakes and 34

sandwiches so far. He needs fo make 35
cakes and 50 sandwiches. How many
more cakes and sandwiches does Jack
need to make?




